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BEH/N 1E Z=pll 45kg b4 kg 950 1IN
BEH/N 8E Z=pll 45kg b4 kg 900 N
= AN 6/ =F 5kg 78 kg 900 EE
IJHN 1B =2F 5kg i kg 850 EiE
IJHN 8E =2F 5kg i kg 800 EiE
I HN 102 =F 5kg 5= kg 750 EE
7o 21/228 f& [ 5kg B kg 850
EMTDA 16 dtiEE 2kg 5= kg | 2,500
EMTA 178 R=E 2kg & ke | 1,800
EMTDA 34 B2 4kg i kg | 1,600
EMTIR 36/ Bz 4kg ] kg | 1,500
EMTDA 388 B2 4kg i kg | 1,300
) 8/9%keg e 1A A kg | 1,250 B E
7V 10/11kg | dtiEE 1A #a kg | 1,450 HfE FE
) 77/8kg | JtiEE 1A & ke | 1,100 HEE FiE
754 2R Al 13/15kg i kg 700 iR
27 20/30g = 2kg 5= kg | 1,500 EE
huA 4kg =i 1A #a kg | 1,600 # I5F
huA 3kg =i 1A #a kg | 1,300 # I5F
huA 4kg =i 10/11kg i kg | 1,100 # BEH
AL A 4/5kg& i 1A = kg | 2,900 i)
Y5 25/29g | = 1A 5 kg | 3,000 i@ fEH
VAP 3kegh =i 1A #a kg | 3,500 T& Ef
< B 5F EEded 5/5.5kg 8 kg | 5,200 # BBFE
EA=hi 6 F8 [ 5/5.5kg i kg | 4,200 # BEH
B 2kg B & 1A 5= kg | 2,200 EiE
nal=] 1ke& = 1A & ke | 3,600 FE FEX
ES<Y 3E & Skg& 7 ke | 1,300 EiE
MY I4—L 4/6 A\ itiEsE 5kg 8 kg | 2,150 | ARG BEFER. h~. BE. Bl
1=l dtiEE 5kg S kg 900
£S5 XBR 100g P P 500
BT %9200g | dbiEaE {4 {4 300
Tyx 8 $9300g | dbiEE 1& kg | 1,800




